B Y=FL—IL-YRTL

(| sBG-sL/sLL (| sBG-sL/sLL

Ve N 4 Mpo A
’[Lm Mro /\
| /\ ) )
4-Mx1 W LJ1
B
&L | | ‘
7 1 [ i ! 1
® TI ,@_@. I b TL@T——{ N ==
Myo — 1 - ‘ _/
H K u h :7 - ! — 1 =
M | H1 ‘ ‘ | } ,=/
_ é"@_ i |
w2 W1 ! G .%‘ = ‘ ‘
Lo
o J - J
i mm FiEmm
DO ~% JAv oA L—IL~HE EZSEKIE%HE ﬁ@ﬁ:ﬁ‘/l\ Ex
HFOHS | _ _ FF 5w TF R = I . X
B | B | we | & | ms | BORETYIR L) ot B | B |OF | REMLAR| o L-1o8x&| C | Co | Mro | Mpo | Myo | <797 | L=l
H W | L | BXJ M/ Ef7R | T N W1 H1 F dXDXh Lomax (kg) | (kg/m)
SBG15SL | 28 | 3 | 95 | 34 |60.8 |26X26| M4X5 |38.8| 25 | 8 035 8 5 15 15 | 60 |45X7.5%X53 | 20 3000 | 833 | 13.4 | 0.07 | 0.05 | 0.05 | 02 1.45
SBG20SL | 30 | 3.5 | 12 | 44 |772 |32X36| M5X8 |50.8|265| 8 |M6X0.75| 7 | 9.8 20 | 175 | 60 | 6X95%X85 | 20 4000 | 142 | 25 [ 022 ]0.18 | 0.18 | 033 | 220
SBG20SLL | 30 | 35 | 12 | 44 |932 |32X50| M5X8 |66.8|265| 8 |M6X0.75| 7 | 9.8 20 | 175 | 60 | 6X9.5X85 | 20 4000 | 16.9 | 36.5 | 0.28 | 0.31 | 0.31 | 045 | 220
SBG25SL | 40 | 65 | 12.5| 48 |86.9 |35X35 M6X8 |59.5|33.5| 12 |M6X0.75| 10.5| 9.8 23 | 21.8 | 60 | 7X11X9 | 20 4000 | 209 | 39.2 [ 035|031 | 0.3 | 056 | 3.10
SBG25SLL | 40 | 65 | 12.5| 48 [106.4|35X50] M6X8 | 79 | 335 | 12 |M6X0.75| 10.5| 9.8 23 | 21.8 | 60 | 7X11X9 | 20 4000 | 246 | 48 | 043|049 | 048 | 073 | 3.10
SBG30SL | 45 | 7 16 | 60 | 99 |40X40|M8X10|70.4| 38 | 12 |M6X0.75| 11.5| 10.7 28 25 | 80 | 9x14x12 | 20 4000 | 29.2 | 53.8 | 059 | 0.49 | 0.48 | 098 | 445
SBG30SLL | 45 | 7 16 | 60 [121.5|40X60|M8X10|92.9| 38 | 12 |M6X0.75| 11.5| 10.7 28 25 | 80 | 9X14X12 | 20 4000 | 353 | 67.9 | 0.74 | 0.79 | 0.78 | 128 | 445
SBG35SL | 55 | 75 | 18 | 70 [112.6|50X50| M8X12 | 80.4 | 475 | 15 |M6X0.75| 16.5| 10.7 34 29 | 80 | 9x14Xx12 | 20 4000 | 388 | 686 | 094 | 074 | 0.72 | 163 | 6.40
SBG35S8LL | 55 | 75 | 18 | 70 [138.1 |50X72) M8X12 |105.9 475 | 15 |M6X0.75| 16.5| 10.7 34 29 | 80 | 9X14X12 | 20 4000 46 | 904 | 124 | 1.3 | 1.28 | 212 | 6.40
SBG45SL | 70 | 10 | 20.5| 86 |140.4 |60X60|M10X17| 98 | g0 | 15 | PT1/8 | 205 1 45 | 38 | 105 |14X20X17| 22,5 | 4000 | 61.6 | 110.6 | 1.98 | 1.56 | 1.54 | 2.96 | 11.25
SBG45SLL | 70 10 | 20.5| 86 [172.4|60X80M10X17| 130 | @0 15 PT1/8 |205 M 45 38 105 |14X20X17 | 22.5 4000 755 | 1385 | 245 | 233 | 2.3 3.75 | 11.25
SBG55SL | 80 | 13 | 23.5| 100 [164.8 | 75X75|M12X18| 118 | 67 | 18 | PT1/8 | 22 | 11 53 | 45 | 120 [16X23X20| 30 4000 | 91.2 | 156.9 | 3.37 | 2.69 | 2.65 | 452 | 15.25
SBG55SLL | 80 | 13 | 23.5| 100 (202.8|75X95/M12X18| 156 | 67 | 18 | PT1/8 | 22 | 11 53 | 45 | 120 [16X23X20| 30 4000 |111.8 | 196.6 | 4.19 | 4.05 | 3.97 | 568 | 15.25
SBG65SL | 90 |17.5 | 31.5| 126 [195.2|76X70|M16X20| 147 | 725| 23 | PT1/8 | 15 | 11 63 | 585 | 150 [18X26X22| 35 4000 |147.9| 2401 | 6.17 | 485 | 4.75 | 743 | 23.90
SBG65SLL | 90 | 175 | 31.5| 126 |255.2 |[76X120|M16X20| 207 | 725 | 23 | PT1/8 | 15 | 1 63 | 585 | 150 [18X26X22| 35 4000 |189.1 | 3204 | 8.18 | 8.34 | 8.14 | 12.05 | 23.90

CE)EIRMEE Co B ERAE






